[image: ]Item #1


[image: ]Item #5




[image: ]Item #6



[image: ]Item #2





[image: ]Item #4


[image: ]Item #7



[image: ]Item #3


[bookmark: _GoBack][image: ]Item #8

image6.emf

image7.emf

image8.emf

image1.png
Example Stem 1: Select whether each equation has no real
solutions, one real solution, or infinitely many real solutions.

One Real
Solution

Infinitely
Many Real
Solutions
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Example Stem 1: If x=n then y=6 is a solution to the equation
represented by the graph shown.
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Stimulus: The student is presented with a contextual problem.

Example Stem 1: Consider the given equation that models a
train’s distance from its departing station, where:
« y represents the distance in miles,
«  xrepresents the speed of the train in miles per hour, and
«  trepresents the time traveled from the departing station in
hours.

y=xt

Enter an equation for which the solution is the speed of the train, in
miles per hour, where the train's distance from the departing
station is 162 miles and it has traveled for 3 hours.




image4.png
Example Stem: An elementary school is having sand delivered for
the playground. Sadie’s Sand charges $5.00 per ton of sand plus a
delivery fee of $200. Greg’s Sand Pit charges $12.00 per ton of
sand plus a delivery fee of $50.

Use the Add Arrow tool to represent functions that show the cost C
of buying T tons of sand from each company.

Sand Costs

0 T
20 40 60 80 100
Number of Tons

Interaction: The student uses the Add arrow tool to graph the
functions represented in the context.
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Example Stem: Select the expression that is equivalent to
(+4)? — (x—2)(x +4).

A 4 +4)

B. 2(x+1)(x+4)

C. x+9)-(x-2)

D. +8[x+4) - (x-2)]




